
[String]

»_EvtS ____________________________________
ÆidEv: String
–_______________________________________

»_Patient___________________________________
ÆidP: String
–_______________________________________

»_Nurse____________________________________
ÆidN: String
–_______________________________________

»_PMS_____________________________________
ÆsubEvtS: F EvtS
ÆsubPatient: F Patient
ÆsubNurse: F Nurse
ÆPatientToEvtS: Patient j EvtS
ÆNurseToPatient: Nurse j Patient
ÆNurseToEvtS: Nurse j EvtS
ÆPatientToNurse: Patient j Nurse
ÆEvtSToPatient: EvtS j Patient
ÆEvtSToNurse: EvtS j Nurse
«_______________
Ædom NurseToEvtS z subNurse
Æran NurseToEvtS z subEvtS
Ædom NurseToPatient z subNurse
Æran NurseToPatient z subPatient
Ædom PatientToEvtS z subPatient
Æran PatientToEvtS z subEvtS
Ædom PatientToNurse z subPatient
Æran PatientToNurse z subNurse
Ædom EvtSToNurse z subEvtS
Æran EvtSToNurse z subNurse
Ædom EvtSToPatient z subEvtS
Æran EvtSToPatient z subPatient
Æ# subEvtS ¯ 3
Æ# subEvtS > 0
ÆAx: subEvtS • # (EvtSToNurse · {x} ‚) ¯ 3
ÆAx: subEvtS • # (EvtSToPatient · {x} ‚) ¯ 15
ÆAx: subPatient • # (PatientToEvtS · {x} ‚) = 1
ÆAx: subPatient • # (PatientToNurse · {x} ‚) = 1
ÆAx: subNurse • # (NurseToEvtS · {x} ‚) = 1
ÆAx: subNurse • # (NurseToPatient · {x} ‚) ¯ 2
–_______________________________________

»_InsertEvtS _________________________________
ÆΔPMS
Æx?: EvtS
«_______________
Æx? ‰ subEvtS



ÆsubEvtS’ = subEvtS U {x?}
ÆsubNurse’ = subNurse
ÆsubPatient’ = subPatient
ÆNurseToPatient’ = NurseToPatient
ÆPatientToNurse’ = PatientToNurse
ÆPatientToEvtS’ = PatientToEvtS
ÆEvtSToPatient’ = EvtSToPatient
ÆEvtSToNurse’ = EvtSToNurse
ÆNurseToEvtS’ = NurseToEvtS
–_______________________________________

»_InsertNurse_________________________________
ÆΔPMS
Æx?: EvtS
Æy?: Nurse
«_______________
Æx? e subEvtS
Æy? ‰ subNurse
ÆsubNurse’ = subNurse U {y?}
ÆsubEvtS’ = subEvtS
ÆsubPatient’ = subPatient
ÆNurseToPatient’ = NurseToPatient
ÆPatientToNurse’ = PatientToNurse
ÆPatientToEvtS’ = PatientToEvtS
ÆEvtSToPatient’ = EvtSToPatient
ÆEvtSToNurse’ = EvtSToNurse U {(x?, y?)}
ÆNurseToEvtS’ = NurseToEvtS U {(y?, x?)}
–_______________________________________

»_InsertPatient________________________________
ÆΔPMS
Æx?: EvtS
Æy?: Nurse
Æz?: Patient
«_______________
Æx? e subEvtS
Æy? e subNurse
Æz? ‰ subPatient
Æ(x?, y?) e EvtSToNurse
Æ(y?, x?) e NurseToEvtS
ÆsubEvtS’ = subEvtS
ÆsubPatient’ = subPatient U {z?}
ÆNurseToPatient’ = NurseToPatient U {(y?, z?)}
ÆPatientToNurse’ = PatientToNurse U {(z?, y?)}
ÆPatientToEvtS’ = PatientToEvtS U {(z?, x?)}
ÆEvtSToPatient’ = EvtSToPatient U {(x?, z?)}
ÆsubNurse’ = subNurse
ÆEvtSToNurse’ = EvtSToNurse
ÆNurseToEvtS’ = NurseToEvtS
–_______________________________________


